
HC 260 C 2,20 WNB (0114026000 10)

1/8



HC 260 C 2,20 WNB (0114026000 10)

2/8



HC 260 C 2,20 WNB (0114026000 10)

3/8



HC 260 C 2,20 WNB (0114026000 10)

4/8



HC 260 C 2,20 WNB (0114026000 10)

5/8

Position Anzahl Typennummer Bezeichnung PG
100 1 315419610 Tisch 48
101 1 1485210365 SPANNSCHRAUBE M 6X11 SW10 12
102 1 1011717434 Satz MESSERANDRUCKSCHIENE VORM. HC260C 25
103 1 6503029250 Spannstift 5X10 11
104 1 6164029245 Gewindestift m.Innenskt. 11
105 1 0911030713 Einweghobelmesserpaar 18,6X1X260
106 1 1385717446 MESSERWELLE HC260C RD 62,5X439 48
107 1 1380717456 SEITENTEIL NR.3 HC260C 50
108 1 6123002049 Linsenschraube mit Kreuzschlitz 11
109 1 1482717469 RECHTECKSCHEIBE HC260C 11
110 1 141131010 Sechskantmutter 11
111 1 141113890 Zylinderschraube 12
114 1 6503001681 Spannstift 11
115 1 1482717515 UNTERLEGLEISTE LINKS HC260C 18
116 1 7007717479 STERNGRIFF 18
117 1 7053010100 Tellerfeder 23x10,2x0,9 11
118 1 6410147244 Stellring A 11 14
119 1 1385717497 GEWINDESTANGE HC260C M 10/60X450 16
120 1 6127059193 ZYLINDERSCHRAUBE M. I-6KT 11
121 1 1482717507 UNTERLEGLEISTE RECHTS HC260C 18
122 1 141121940 Zylinderschr. 12
123 1 141113990 Zylinderschr. 12
124 1 6131059530 Senkschraube mit Kreuzschlitz 11
125 1 1482717523 UEBERDECKLEISTE HC260C 18
126 1 7053016795 Tellerfeder 11
127 1 141111420 Linsenschraube 12
128 1 1382718360 KURBEL HC260C 21
129 1 141130100 Sechskantmutter 11
130 1 1485717540 GEWINDESTANGE HC260C TR 14X3X365 22
131 1 1385717551 GEWINDESTANGE HC260C TR 14X3X229,5 21
132 1 6501007275 Zylinderkerbstift 3X16 11
133 1 6103008717 SECHSKANTSCHRAUBE M 6X80 11
134 1 1381717565 GLEITSTUECK HC260C 16
135 1 6300016705 Scheibe 11
136 1 1385717578 DRUCKWALZE HC260C RD 25X360,5 31
137 1 1485717583 DISTANZWELLE HC260C RD 20X295 22
138 1 1485717591 Vorschubwalze rauh HC260C RD 25X360,5 30
139 1 141124560 LINSENSCHRAUBE M.KREUZSCHLITZ 11
140 1 6161067090 Gewindestift m.IS+Kegelk. M 5x5 11
141 1 1385717608 Stellmutter 30x30x22 TR 14x3 22
142 1 1011717612 DICKENPLATTE HC260C 50
143 1 1382718379 BLECHNASE HC260C 13
144 1 1380717626 AUSGLEICHSCHEIBE HC260C 22X22 12
145 1 7051717630 DRUCKFEDER 11
146 1 141151340 Scheibe 11
147 1 6102001093 SECHSKANTSCHRAUBE M 8X80 11
148 1 6160151542 SCHAFTSCHRAUBE M 8X16 12
149 1 6143025088 Linsenschraube m.Kreuzschlitz M 4x8 11
150 1 1141717649 SKALA HC260C 15
151 1 6306017266 PASSSCHEIBE 8X14X1 11
152 1 1381717654 Spindelbuchse HC260C RD 16x10 12
153 1 1388718389 AUSGLEICHSSCHEIBE HC260C 12



HC 260 C 2,20 WNB (0114026000 10)

6/8

Position Anzahl Typennummer Bezeichnung PG
154 1 7246717669 KETTENRAD 19
155 1 7236717679 ROLLENKETTE 31
156 1 1382717682 ABDECKBLECH HC260C 26
157 1 141151940 Scheibe 11
158 1 1382717690 JUSTIERWINKEL HC260C BL 2,00X52X24 13
159 1 1482717701 FUEHRUNGSLEISTE HC260C FL 22X4X190 19
160 1 141124510 Gewindestift m.IS+Kegelk. M 6x 8 11
161 1 1482717710 FUEHRUNGSLEISTE HC260C FL 20X4X193 19
162 1 1383717724 SPANHAUBENPROFIL HC260C 258 MM 22
163 1 6172015687 LINSENBLECHSCHRAUBE M.KRZSZ 11
164 1 2380717738 RUECKSCHLAGSICHERUNG HC260C 14
165 1 1385717748 ZUSATZSTANGE HC260C RD 6X286 14
166 1 1385717756 RUECKSCHLAGSTANGE HC260C RD 11X286 16
167 1 6103030259 SECHSKANTSCHRAUBE M 8X80 11
168 1 1382717763 SPANLEITBLECH HC260C BL 2,00X45X309,5 18
169 1 1485717770 DISTANZWELLE HC260C RD 20X295 22
170 1 7246717782 KETTENSPANNRAD 18
171 1 141130650 Sechskantmutter m.Klemmt. 12
172 1 1385717799 GEWINDEBOLZEN HC260C RD 13X20 8h9 M 6 12
173 1 1382717801 KETTENSPANNBLECH HC260C BL 2,5X25X76 12
174 1 1381717816 SPANABSAUGHAUBE HC260C 30
175 1 141114010 Zylinderschr. 11
176 1 6123662723 LINSENSCHRAUBE M.KREUZSCHLITZ M 5X8 11
177 1 141114010 Zylinderschr. 11
178 1 1381717824 SPANAUSWURFHAUBE HC260C 29
179 1 1485718407 DISTANZWELLE HC260C 25
180 1 8116718414 Endschalter 27
181 1 7050718420 FEDER 11
182 1 1388718435 SCHALTNOCKEN HC260C 15
183 1 1382718441 SCHALTERPLATTE HC260C 21
184 1 141124510 Gewindestift m.IS+Kegelk. M 6x 8 11
185 1 1382718450 STEUERNOCKEN HC260C 13
186 1 1388718460 SCHALTGABEL HC260C 14
187 1 1382718476 ENDSCHALTERHALTERUNG HC260C 14
188 1 1388718486 SCHALTBLOCK HC260C 23
189 1 141130070 Sechskantmutter 11
190 1 6123662723 LINSENSCHRAUBE M.KREUZSCHLITZ M 5X8 11
191 1 6134718496 Linsenkopfschraube 11
192 1 1332718505 KONDENSATORSCHELLE HC260C 12
193 1 8050718515 Kondensator 31
194 1 1388718524 VIERKANTHEBEL HC260C 11
196 1 7050718543 Feder 13
198 1 1011718554 HALTERUNG/WINKELGETRIEBE HC260C 29
200 1 1381717832 VERSCHLUSSKAPPE HC260C 12
201 1 1380717847 Anschlagsegment HC260 21
202 1 1381717859 GLEITSEGMENT ANSCHLAG HC260C 12
203 1 6103001216 SECHSKANTSCHRAUBE M 8X50 11
204 1 1383717864 ANSCHLAGLINEAL HC260C 650 MM 34
205 1 6110000608 FLACHRUNDSCHRAUBE 11
206 1 1381717875 VERSCHLUSSKAPPE HC260C 11
207 1 1383717880 MESSERWELLENABDECKUNG HC260C 360 MM 25
208 1 1381717891 KLEMMHEBEL VARIOABDECKUNG HC260C 14



HC 260 C 2,20 WNB (0114026000 10)

7/8

Position Anzahl Typennummer Bezeichnung PG
209 1 6201002131 HUTMUTTER M 8 11
210 1 316093450 Schutzabdeckung vollst. 41
211 1 1381717913 ENDKAPPE ABDECKPROFIL HC260C 11
212 1 6174001900 Senkblechschraube m.Krzsz 11
213 1 1382717925 SEITENTEILDECKEL HC260C BL 2X30X153 13
214 1 6143025088 Linsenschraube m.Kreuzschlitz M 4x8 11
215 1 1382717933 KEILRIEMENSCHUTZ 1,5X164,5X261,5X345 27
216 1 6305002486 Scheibe A8,4 11
217 2 7006717947 KLEMMHEBEL MIT INNENGEWINDE 19
218 1 1381717956 Kunststoffscheibe HC260C RD 20/RD 8 L=6 11
219 1 1380717960 ANSCHLAGWINKELSTUECK HC260C 25
220 1 1380717979 FUEHRUNGSSEGMENT HC260C 19
221 1 6103001356 SECHSKANTSCHRAUBE M 6X16 11
222 1 141150010 Scheibe 11
223 1 6143025088 Linsenschraube m.Kreuzschlitz M 4x8 11
224 1 1392017603 Abdeckblech BL 2,00x188x190 23
225 1 1381717999 ANDRUCKKAPPE HC260C 22X13X130 16
226 1 1381718006 VERSTELLHEBELRAD HC260C 19
227 1 6127043580 ZYLINDERSCHRAUBE M. I-6KT M10X16 11
228 1 1482718015 ANDRUCKEINLAGE HC260C 12
229 1 1485718024 VERSTELLSTANGE HC260C 6-KT SW14X285 24
230 1 1381718030 ABDECKKAPPE HC260C 20
231 1 6134151119 Linsensenkschraube M.Krzsz M 6X20(22) 11
232 1 6306002170 PASSSCHEIBE 10X16X1 11
233 1 1482718040 SPANNHEBEL HC260C BL 4X50X165 16
234 1 1482718058 SPANNHEBEL HC260C BL 4X50X165 17
235 1 7240718060 KEILRILLENSCHEIBE 21
236 1 1380718070 LAGERSCHALE HC260C 19
237 1 7632718564 O-Ring 11
238 1 7100017703 Rillenkugellager 6203-2RS1 (17x40x12) 20
239 1 1385718086 ANSCHLAGFUEHRUNGSWELLE HC260C RD 10X75 14
240 1 2380718092 ANSCHLAGHALTERUNG HC260C 20
241 1 141110270 Sechskantschr. 11
242 1 6110015990 Flachrundschraube 11
243 1 7246718100 ANTRIEBSKETTENRAD RD 67,5X16 16
244 1 6503001665 Spannstift 4x20 11
245 1 1385718116 BOLZEN HC260C RD 16X60,5 13
246 1 7051718121 DREHFEDER 12
247 1 1482718139 KETTENSPANNER HC260C FL 20X4X90 14
248 1 7236718144 ROLLENKETTE 25
249 1 7246718150 UMLENKKETTENRAD 15
250 1 1385718167 GEWINDEBOLZEN HC260C RD 14X20 10h9 12
251 1 1385718175 BOLZEN HC260C RD 20X64,5 15
253 1 7016056183 Starlock ohne Kappe 11
255 1 6306009760 PASSSCHEIBE 16X22X1 11
256 1 7232017354 Antriebsriemen LI 547x2,0x18 30
257 1 316098270 FLACHRIEMENSCHEIBE 24
258 1 7247718200 ZAHNRAD 19
259 1 7053010096 Tellerfeder 34x12,3x1 11
261 1 1381718235 KAPPE SCHUTZHAUBE HC260C 14
262 1 1381718243 SCHUTZHAUBE HC260C 29
300 1 6442718251 DISTANZHUELSE RD 15/7X16,5 11



HC 260 C 2,20 WNB (0114026000 10)

8/8

Position Anzahl Typennummer Bezeichnung PG
301 1 141150130 Scheibe 11
302 1 8133718584 Schalter 49
303 1 6103001178 Sechskantschraube M8x16 11
304 1 1382718263 SEITENTEIL NEUTRAL HC260C 30
305 1 6103001151 Sechskantschraube M6x40 11
306 1 6305002486 Scheibe A8,4 11
307 1 6621009530 BLINDNIET 6,0X8 11
308 1 1382718271 FRONTTEIL HC260C 29
309 1 7233066820 Keilrippenriemen 5 PJ 864 22
310 1 141114860 Sechskantschr. 12
311 1 7240718299 KEILRILLENSCHEIBE 27
312 1 6721059322 Passfeder 11
313 1 6121023081 Zylinderschraube 11
314 1 1382718301 MOTORTRAEGER HC260C 26
315 1 6110000632 FLACHRUNDSCHRAUBE M.4KT-ANSATZ M 8X16 11
318 1 1485718393 DISTANZWELLE HC260C 22
319 1 8012718323 E-MOTOR 2,20KW 63
320 1 1382718336 FRONTTEIL HC260C 30
321 1 1380718592 SEITENTEIL NEUTRAL RE. HC260C 32
332 1 1382718344 BEIN HC260C BL 2,50X88X563 25
333 1 7057718352 GUMMIFUSS 15
334 1 2380718092 ANSCHLAGHALTERUNG HC260C 20
2250 1 1392075565 Hobelmessereinstellehre BL 2x43x45 14


